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Contents: April 2 (Lecture 5)

I. What is the most promising industry over the next five 
year span ? (team presentation)

II. What is the most promising company (firm or stock) over 
the next five years ? (team presentation)

III. Time value of money (basic principle of finance)

IV. Notes: Quiz1( April 9), Mid-term Exam: April 23



II. What is the most promising industry over the next five 
year span ? (team presentation)

Methods to evaluate the competitiveness of an industry

1. SWOT Analysis (Strength, Weakness, Opportunity, Threat)

2. M. Porter’s 5 Competitive Forces

3. Risk Analysis

4. Industry Cycle Analysis

















II. What is the most promising company (firm or stock) over the next 
five years ? (team presentation)











III. Time Value of Money

















What is the present value of the cash flows (at the end of year one=$1000, at the end of year two = $2000, at the end 
of year three = $3000, discount rate is 10% ?



Detailed Present Value Calculation:

Cash flow in year 1: $1000
Discount factor for year 1: (1 + 0.1)^{1} = 1.1000
Present value of $1000 received in year 1: $1000 / 1.1000 = $909.09

Cash flow in year 2: $2000
Discount factor for year 2: (1 + 0.1)^{2} = 1.2100
Present value of $2000 received in year 2: $2000 / 1.2100 = $1652.89

Cash flow in year 3: $3000
Discount factor for year 3: (1 + 0.1)^{3} = 1.3310
Present value of $3000 received in year 3: $3000 / 1.3310 = $2253.94

Total present value of all cash flows: $4815.93



Calculate the present value for the cash flows ($1000 each year for the 
next 30 years

Calculating Present Value of Annuity:
Payment Amount (PMT): $1000
Discount Rate (r): 0.1000
Number of Years (n): 30

Step 1: (1 + r) = 1 + 0.1000 = 1.1000
Step 2: -n = -30 = -30
Step 3: (1 + r)^-n = 1.1000^-30 = 0.0573

Step 4: 1 - (1 + r)^-n = 1 - 0.0573 = 0.9427

Step 5: [1 - (1 + r)^-n] / r = 0.9427 / 0.1000 = 9.4269

Step 6: PMT * Present Value Factor = $1000 * 9.4269 = $9426.91

The present value of receiving $1000 per year for 30 years at a 
discount rate of 10.0% is: $9426.91

PV = PMT * [ (1 - (1 + r)^-n) / r ]
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